Econ 520 F11

AnswerKey to S11 Final
1-20 — See midterm keys

21.
22.
23.
24.
25.
26.
217.
28.
29.
30.
31.
32. d (hard for some reason)

33. a(hard)

34. b (super hard, but shouldn’t be!)
35. e (super hard, but shouldn’t be!)
36. b

37.
38.
39.
40.
41.
42,
43. d (100% right!)
44. d (100% right!)
45,
46.
47.
48.
49.
50.
51.
52. c¢ (super hard, but shouldn’t be!)
53. ¢ (hard)

54. b (hard)

55. e (super hard!)

56. d (hard)

57. d (hard)

58. ¢

59. ¢

60. b (hard)

(hard)
(super hard)
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(hard)
(super hard)

O T QT T QD

o

(super hard, but shouldn’t be)
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